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Sottrai Decimali

Nome:

Risolvi ogni problema.

1) 80,78+ 66,939 =

2) 9,7-255=

3) 85,80+42,99 =

4) 28536+ 16,6 =

5) 73,8+21,881=

6) 40,368-9,7=

7) 23,7-0377=

8) 81,890+ 54,6 =

9) 88,192-48,64=

10) 88,73-38,4=

11) 29,70-27,9=

12) 4354+17,01=

Risposte

10.

11

12.

1-10
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ﬂh Sottrai Decimali

Nome:  Soluzioni
Risolvi ogni problema. Risposte
1) 80,78+66,939= 147,719
1. 147,719
2. 7,15
2) 9,7-255= 7,15
3. 128,79
3) 8580+4299= 128,79 4. 45,136
5, 95,681
4) 28536+16,6= 45,136
6. 30,668
7. 23,323
5) 738+21,881= 95,681
8. 136,49
6) 40,368-9,7= 30,668 9. 39,552
0. 50,33
7) 23,7-0,377= 23,323
11. 1,8
2. 60,55
8) 81,890 +54,6= 136,49
9) 88,192-48,64= 39,552
10) 88,73-38,4= 50,33
11) 29,70-279= 18
12) 4354+ 17,01 = 60,55
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Cll# Sottrai Decimali Nome:

Risolvi ogni problema. Risposte
45,136 7,15 95,681 50,33
147,719 136,49 23,323 39,552 1
30,668 128,79

1) 80,78 + 66,939 =

2) 9,7-255=

3) 85,80+42,99 = 6.

4) 28,536+ 16,6 =

5) 73,8+21,881=

10.

6) 40,368-9,7 =

7) 237-0377=

8) 81,890+ 54,6 =

9) 88,192-4864=

10) 88,73-38,4=

. Semplificato 1-10 90|80 70|60 |50]40]30]20[10] O |
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